
EECS1022 Programming for Mobile Computing
(Winter 2021)

Q&A - Lectures W6

Monday, March 1



- Programming Test 2 on Wed and Thu (2 hours, 4 problems)
- Written Test 2 Guide
- Lab6 (tutorial videos + written notes)
- Lectures W7
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For Lab 6, my model.Registration class used a class variable of 
type Instructor (found in model.Instructor class). 
Why don’t I need to import model.Instructor at the top of the 
model.Registration file?
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When is the use of this required?

I . " this
"

is implicit for each mention of an attribute.
(except when variable shadowing

2. "this
"

is necessary when an attribute name is in

place)
dashes with the input parameter names.

7.
"

this
"
denotes the context object .

D object creation
② method call
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In this particular illustration of object creation, 
why is the String attribute shown to be separate from the columns, 
pointing away from it to the value it is assigned to?
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public static KEY task 1 Cat n) {

AHI result = nutty

result = not THE435

boolean result = false ;

return results result = true,

}
=

.
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